Chapter 2 Compound Interest

ComPouNDd |NTEREST.

EXERCISE- 2.4
Solution -o1,
P‘u'm-::'.F'a.l fot the fivst Year - J g, 000

Intevest fov the fivst Year . 9 Q00 ¥ SxN
loo

= FYoo
prnount  ofter one Yeay = I | 000 + I you

= 3] ,4yo00
Trntevest oy the Seand Year = FB Y00 ¢ 5v )
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compPound TInkevesk after Lo Yyears = final amount -
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Solukion -02.
Principal for the fivsl Year = 3ye,g35-

Rate of ‘intevest = ..

(1) Tnkevesgt for bhe 1&11-5[- Year = TYERES XY w |

|00
= T\1aFS
Amount afber one yeay = Fyg g5+ I 178
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i) intesest for the Second Year = T YR F50¥Y o]
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+he amount stonding 4o his credit abt e end. of

secord Yeay = T 4g,F50 % 1,950
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Solution-032,
princiPal for the fivet Yeéay = a& .000

gale of Interest =10

Intevest Jov the Fisstiyeay = 2 0004 104
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= 2968

< um due at the end OF the d,ixd Yeay - 3 9.4a0+ 36
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Solution-o4 !
princiPal for the fivet Year = 3128800

Rate of “nkesest = o

Trltevealk for the Hivet year- 12 .,8o0o%ioy)
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31;3%, Cy 30
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= Tsarso.
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Solution-o06:-

Prinel [—‘*a,l +ov the first bEaT = |lb,000 .

Amr::uﬂl: after one Yeor = 3 11,200

Tntevest for the fvst year = 311, 300° Fro00
4
= 2 ﬁlﬂo

Roke of Tnlerest for the firgl Hear = ¢

Tnteveel For e fissk Year = 10,000 24]
le o
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=) A= V&L
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A
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= 2134y,

Amount al theversd of second Jeay= ¥ \\, 20043 13y,

= 21,54y
solution-0F
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= 1;;5& T}EGD
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(i Trterecd acuved 10 the Second year- S.60002¥)
Do

=3 £98,

,ﬂ.mguﬂl a—f—"l-e: second Hear= R 5,600 4 T 672

= 26,278

O Intevest fos the thivd year= & 6.919 v 19y |

N =¥a

= FEH.14 x12.

= 27152.44
Amount atler third year- zgag% 2158 .4y

= @ 1,084 -6y

Solutiom -0
principel for the tirst Year = 2&,000.

> Q bals
Intesest for M Wvst Jear = ‘EQDDG";’”
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Amount afley fivgl Mald
4= 33,000+ 790
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' &
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solution-09,
Principal for the first half Yeay - % 50,0006
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Solubion- 10,

Siven that A=9261, n=24e=-s
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4261\ = P(H—lh"_{}'f
Q26 = P %%33
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solubion-io:
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Inkevest o _L_L!ug
= a-'l,."ht::rr::':_
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Intevest for bhe Bhind'Udsy @1y, . 230,570%1yx)

oo

3 § 8179.%¢
= T &,
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Solution- 1.

pvincipal for the first Year - 2 9,600
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¢ o pound Interes! for third Yead - 3 10564 Tlo0s.6
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Solubion-13 -

Swmple onlevest on certain money $OY 2 Yegay

@ Lo T F'nE) = |, 600
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Armount after three Yeal = 9 6%c 4+ 3 96

Compound Intevest for Hwee Year- Tooo + Sea,
+ 3 969
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principa) fov the Fivst Year = 3 g, p00
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Y OmEY TEP&id = E | Yoo,
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\
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Soluytion=15:

Principal for the fivet Year - 2 100000

Trtevest fov the fivstyew = ElrEEPEE_’_‘i“”I
||i¢
= E 1-],.(:.{}9
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= & l.ﬂi‘hoﬂﬂ'
Mgﬂﬁg_\i TEPD..ICE Q‘Fl_ﬁ'f one %Eﬂ.r =3 Y|

Loo
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- L
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EXERCISE-Z.2-
Solution -0\,

uSng the fosmuda, We ge b
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P"%E'mu(l*--l_mux A= P[H-f%u\
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WS g formule, w2 Jeb
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Selukion-03:
Since, yate of ‘nkterest pevy annum (s G, bexedore,

wake of inlerest Per corVexsion Chalf yeady)l=d.s¢

As He MEONEY cum-fioundecl qu’r— 'amrl._,r
Number of fenveérsion Pevipds- o

L1
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e -
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. | Do
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solubion-04
Since, Toke of inkerest Per armumio'l-, Breve fore wale

of “nler eet Fey conversion = 5t

AS e money compPounded Sem, amuallﬂ!,

minumbketr of convVergion PEE\DJE"J = 2

P

1l
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-~
+
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o
‘-_p//j
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Ay:]
o
O
o
5
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[
e
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Since , the valke of Tntevest per q FOnths (ann )
s} Yyl
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"'q"“-l‘x.
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3
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2
B = |Qf:rn0( V¥ _1_3
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loooo (hs_:it f
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\a eTon 19 % 10V 10)

Do TR 1-::56

3 \lo3030.12.

I

ComPound Interesk = |03%,030:-1¢ - |, 00,000

= F3,030,
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Psincipal = 4%0c0 ., n= 2 ¢ R=cgf)

Simele Thnleyest = Ponaxg
(K 1
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I
= IYyso .
- . ™
A= (1+‘:T‘%m\ P

s
N 'Eﬂﬂ( - ?50-3

i
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T
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1
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€1 = 5,292- Yy,800 = 492.
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Solubion-01:

Principal = 38,500, N=2 and R= Y47 per amnum .

G“x*mi:ﬂe InLeresjc = PYENLR
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b

= F 200

E,.i"‘\urgﬂ ‘qu:\'l: E‘Gmpauﬂcl TﬁiETﬂﬁlr }E:"J“—ibﬂﬁd S€eml

Qﬁﬁuﬂnﬂ- therefore n=4 4 R= i

5 = Y 8]
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P(H%ﬂ

= -E.EDD(|4_ %\
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<0,
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= .‘Q_c;m; eSS s

V4 -

-

0¥ SOLEOTYED
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= 2,7106.80

Campmnd Inl:ETEe‘L = 2,7706.80 - ol 5
200
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Solubion - 085~
Eﬂ‘p.,.l'gn ‘jCH:'ﬂ: :

Principal for the first Yeav= 39 o0,

Inkesest tov e bivel Yeay = ELE”-?‘P::E Ixy

n::cp‘h
= I E®:

F""E\‘I’"IE.‘\Pad -ﬂ:c:.f b-e Slcand lﬂm‘r = iﬂ-—rD%G

Interest fov e gecond
_ net Yeay = &ng
IS
= 6Ryo

Compound zntevest = 3@ {Wea.y,

= A\ Yo,

Solution - oq
A- + 3 AN "
P(' Il T;&}’(H\%ch[ L2 E)

3!
RO G,

= 242% L -+ iEB[H"IL-G‘)E-‘*E

=0
| Z 3
= 3 TA2Een |\ S22

S 2L4 56
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= 4,449
“
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ComPound Trkeverbk = 3,617 25 -3125 =1Gq2.0¢




Solubion-12:

Ghvent that A =132, n=3, T

& & p(it;%gjr
L W]
\ = >
326s) F"'( | + Tﬂén\

sk F’(H_Hs 2
=c 4 = 13265

= P oAsitg gy

o YZorso = ‘.'%.155“

P= ‘\22as |\ be_ﬂsnuﬁu
=\ XS]y %)

= - \Eaewi
P (B X
—— N %bfﬁ

Solukion-13

As AN
P( W

= ‘Pt T+ Y =
({=ld

F'[\Jri; =

= Pr2Ew26
282

CT = &Eyas (P-p = 616P=625p
o B

s

= 01T = E’_I_F_
[ =




— S, 2= SYP

&1

- SiIN2TXELT
=p

=30

= £=70,c00.

Solukion -y
A=1215, p=1200, n=t\ 4 ="

\219s = 1200 +1,_ID\"'“
o0 )

\29s - \DM;D
\ 260 \ad®

= F = _—F__E
L2

c ’
T R Second Yeol = ‘&mé'gﬂ“
ch_-

= T19£2-71s

K=l=

= T19.6%
ComPound Tnlerest for gecond Yeey

= Qh%c.



Solukion-1g

Given that A=2s00, P=2304y,n-92 L e=9,

2so0 = anq(1+_‘a_ 2
\oo
Zsoo
:L‘l " ol =
2320y \ oo
= \CO+Y% Jm
=4 oo+
\oo — 52‘)%
Y
= \co+Y = \OovsOo
B
= ¥ = SooOo
H%wtt}‘ﬂ}

=> ¥ = Sofo-%eco

bUaoo
= _x -Lo4¢
134b
“-.—-‘) % = M
2y7



Solukion-1g
Eiven tHhal

A= P.n=2 &v=19

= i3
= A= ek 'lDU\j

= g H:F_GDY_: S ,V’

L &
— tﬂﬂ*—"' r

L&

= \oot¥w _

—— —_—

=
Lo Y

—" ¥ = \2s-\loo

— - .
solukion-\T
C 1+ ¥
{D'E-
o \3
= 23,¢. TG 2,000 (\ ¥
oo

. 225 1s
= — \oo ¥\ >
= OB = )

oo

8 . 2\52%

P - oo+
®d — = S VBSLsyes
3
2 .oc00 - E = Clootn®
e = L CE Ty
oo -
= ooty

= Em T lootY

=3 gi{hiﬂi? = ooty

v T:IDS_iﬂﬂfgqf



Solwtion-1g:

Pz URHLO LS JP:HO,QQD [ =

M1

AR 'l'ﬂ.'l.-q

A= P(.\+l

LoD

= U4%8.,620.25 = l—tc,ooc('-+f~'_
200

= 100+ R t

i - U4%.,620.2¢

Ho,0o0o0

L
= [iini:-JrE}L] = HR,620-25 % 200X 200% 20045 op,

4 0 ogd

L
B (ROe+RY = A [aa S 200y

=) RQoo+R = oo l9np

1!,
72
"

2Y@ -2 a0

= RS ral

v« Yoo
— -E'I.E, 2
T X P( '+ B3

= \oots = &xivo
=

= F= \0-\100 = Q0.



P.ca.lre of ?njceragj; - 20y¢2 7
= Yo-

Solukion-20"

awen 4hat A= gg 200, P=206,000 nzu

A= P 1+13’L
oo
o B8240

co00dd ( IBDJ”)L

loo

= QA s\ ¥

_\oo4dr
amiail =

\oo
= &mxﬁq
y'a'a‘b =\oo+y
=3 ¥ = \og —Woo |

= ¥ T SN

Principal _ e 2 o0
cT = BBA2AYGOLS
e
T ®Br¥g
= q.4\0

Amount 1o be -Pa._.r::l ad tes 3 Yeare = Py r"-I:[

= 88,2004 4 Yy,
=" 10

'J-A: g?ﬂjgiﬂ



Solubion-2\.

Let the vale of CompPound ‘nterest be v per annum.

The ﬁ.‘r‘l"n-l:!unl’- afkers wat\l be the P'r?nr;“.pval _EDT .o

Hrﬁ'ﬂi Ld't‘:"—".'r
= gossé& So - 51ﬂi1[:11~_1
oD
= |4+ 3 _ sSsé6o
\oo S294
= X . &s5ssé660-529%
\DO e = 5% 6
b 2 S 29 0

. 26 4
=> = DE4HEO

= o

S+ The valbe af Co mPaund Inl'cE_"E'E-EL =5 Pexy annum
Let Hhe r::-"ﬂ"li-j]np_.l

R s2q5%p (Ves\"
¢ ‘oo

1
= Pw 9i1%ay
O e = 5291

= P= 5292 x4yoo

Yy

=3 F‘: 1’&1("“:!!::

=3 P:E_HE;CJD .

Seo¥iinal Sum s 3 Yy &8on



Soplukion -39 7.
et the sate of wmPound Intevest be ¥, Per annum

The amount after 3Years LW be the Principal for

e (\.H“kjﬁav
=" ‘Et;'l'%ul.l e = MVl [1..} L3
Tod)
1 S1B-46 - oo 4y
19 .60 la o
3 ¥ = ?18-46 -192.46 E9R.y ¢
&
\oo TaAs.¢
T9% .65 o
iy
=X % = -fc'lEG
B
198 .66
= ¥ = lo -,
The wake of compeurdd Inteyect - \q.,

Pev annam
Let the omiginat Sl be p.

X 1%5":-;»(1“_53

Jale

=2 jq%"gzpiﬂmﬂ.#i

(&) Vo o
= TA%.64 \e0@m

____-_-'_'_' iy,
Iz v x g i

— P = T1A8Ffco
-._-__—-__

L2y sty

= Pz EGoo.

m;fa'thcxl amoun t RE00



solubion-232.

SRICE

=D 11576 = Bias ('-**"1“}
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26\* ; 2g\"
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5glujcinh—iq ..
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